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B. A. (HONOURS) ECONOMICS 

(BAECH)  

Term-End Examination 

June, 2024 

BECC-103 : INTRODUCTORY MACROECONOMICS 

Time : 3 Hours     Maximum Marks : 100 

Note : Attempt questions from all the Sections as 

per introduction given in each Section. 

Section—A 

Note : Attempt any two questions from this Section 

in about 500 words each.  2×20=40 

1. Explain, how real and money flows take place 

in an open economy. Use appropriate diagram 

to illustrate your answer. 

2. What are the objectives of monetary policy ? 

What policy instruments are available to the 

Central Bank to realise the monetary policy ? 
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3. Bring out the salient features of Classical and 

Keynesian macroeconomics. Contrast these 

features. 

4. By using IS-LM curves, explain how 

simultaneous equilibrium in goods and money 

markets takes place. Explain, how the 

adjustment process in the economy leads 

automatically to equilibrium. 

Section—B 

Note :  Attempt any four questions from this 

Section in about 250 words each.  4×12=48 

5. Explain the concept of investment multiplier. 

What are its limitations ? 

6. Distinguish between demand-pull and cost-

push inflation. 

7. Explain the quantity theory of money. What are 

its implications ? 

8. Explain, how national income can be measured 

by the value-added method. 
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9. Define various macro aggregates in an 

economy. How would you obtain national 

income from gross domestic product at market 

price ? 

10. Explain, why high rate of inflation is bad for an 

economy. How does inflation affect various 

segments of society ? 

11. Describe the Keynesian model of output 

determination by using appropriate diagram. 

Section—C 

12. Write short notes on any two of the  

following :  2×6=12 

(a) Stagflation 

(b) Balanced budget multiplier 

(c) Speculative demand for money 

(d) Measures of money supply 
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